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ANTHROPOLOGY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Who of the foIIow_ing wrote the 7. Which of the following is used for
book, ‘Cultural Materialism” ? amplification of DNA in the process
(A) Raymond Firth of DNA finger printing ?
(B) Sir James Frazer (A) Southern blotting
©) Oscar_ Lewis_ (B) Northern blotting
(D) Marvin Harris (C) Polymerase chain reaction
_ _ _ (D) Western blotting
In which year the First Public
$QEf'C3t'0”_ Ond othe “Scheduled 8.  Alkaptonuria is due to the deficiency
ribes’ was issued * of
(A) 1950 (B) 1951 (A) Phenylalanine hydroxylase
(C) 1952 (D) 1953 (B) Homogentisate oxidase
The term ‘Scheduled Tribes’ was (C) BN acetyl hexosaminidase
: : NP D) Galact 1-phosphat idyl
inserted in the Constitution vide (0) trSnige?zze phosphate - uridy
(A) Article 342(i)
((E;) ﬁrt!c:e 3?’4(') 9. Who among the following made a
©) rt!c €275 remarkable contribution in the field
(D) Article 330 of dermatoglyphics ?
A) J.D. Mavalwalla
A family consisting of a married EB)) cummins and Midlo
E:SOIL(JE(I)?N?]nadS their unmarried children (C) Francis Galton
(A) Joint family (D) All of the above
E(E;g Elﬁtflggf(: afrz;l]rirll;ly 10. Mongolism is seen in
A) Down’s syndrome
D) None of the ab (
(D) None of the above (B) Turner’s syndrome
Who, among the following, is an (C) Edward’s syndrome
(A) Herbert Spencer
(B) Edward B. Tylor 11. The phenomenon of one gene
(C) Lewis Morgan !nfluencmg more than one characters
(D) Julian Huxley is known as _ _
(A) Penetrance (B) Pleiotropism
Who was the first anthropologist to (C) Expressivity (D) Heterosis
use expression of “social network’ ?
(A) J. Clyde Mitchell 12.  Sickle cell trait/anaemia is a result of
(B) John Barner mutation in the
(C) Fredrik Barth (A) Beta-chain (B) Delta-chain
(D) Max Ghickman (C) Alpha-chain (D) Epsilon-chain
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13.

14.

15.

16.

17.

The approach to ‘New Archaeology’
was propounded by

(A) V. Gordon Childe

(B) Graham Clark

(C) L.R.Binford

(D) D.L.Clarke

The Sohan culture of Northwestern

India is characterised by

(A) Ground and polished tools.

(B) Pebble dominated stone tool
industry.

(C) Flake dominated stone tool
industry.

(D) Blade dominated stone tool
industry.

In which of the following sites the

blade tools are associated with

ostrich egg shells ?

(A) Renigunta in Andhra Pradesh

(B) Buddha Pushkar Lake in
Rajasthan

(C) Patne in Maharashtra

(D) Mahadaha in Uttar Pradesh

Which of the following are the ideal

characteristics of a tribe ?

(i)  Oral Tradition (i)  Animism

(iii) Territoriality (iv) Barter

Codes :

(A) (i), (i), (i) and (iv) are
correct.

(B) (i), (i1) and (iii) are correct.

(C) (i), (ii) and (iv) are correct.

(D) (ii), (iii) are (iv) are correct.

Which of the following books are

authored by Levi-Strauss ?

l. Myth and Meaning

Il.  Primitive Classification

I11.  Elementary Forms of the
Religious Life

IV. Structural Anthropology

Codes :

(A) I, Il and Il are correct.

(B) Iland IV are correct.

(C) land IV are correct.

(D) All are correct.
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18.

19.

20.

Which of the following statements
apply to the class system ?

I. A class does not rely on an
ideology of blood.

Il. It represents a bounded system
and does not cut across other
forms of social organization.

I1l. A class is recognised by one’s
relationship to the means of
production.

IV. Class distinctions can be
maintained through ‘Patron-
client’ relations.

Codes :

(A) land Il are correct.

(B) Iland Il are correct.
(C) I, llland IV are correct.
(D) 11, 1l and IV are correct.

Which of the following are the
modes of acquiring wife ?

l. Progeny price

Il.  Suitor service

I1l.  Gift exchange

IV. Marriage by capture
Codes :

(A) land IV are correct.
(B) Il and Il are correct.
(C) All are correct.

(D) Iand Il are correct.

Who among the following are
ethnomedical specialists ?

(i) Shaman (i) Bone-setter
(iii) Mid-wife (iv) Witches
Codes :

(A) (i), (ii1) and (iv) are correct.
(B) (i), (ii) and (iii) are correct.

(C) (i), (iii) and (iv) are correct.

(D) (i), (ii) and (iv) are correct.
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21.

22.

23.

24,

Which of the following form the
bases for classifying tribes as
particularly ~ Vulnerable  Tribal
Groups (earlier called as Primitive
Tribal Groups) ?

(i) Religion

(i)  Stagnant or declining population
(iii) Low level of literacy

(iv) Sex-ratio

Codes :

(A) (i) and (ii) are correct.

(B) (i) and (iii) are correct.

(C) (iii) and (iv) are correct.

(D) (i) and (iv) are correct.

To attain bipedal gait and erect

posture the anatomical changes

occurring in man’s pelvis and lower

limbs were

(A) Shortening and broadening of
ilium.

(B) Development of linea aspera.

(C) Enlargement of femoral
condyles.

(D) All of the above.

Factors which tend to change gene
frequencies are

(A) Natural selection and Mutation.
(B) Migration and Genetic drift.
(C) Random mating.

(D) Both (A) and (B).

Electrophoresis technique can be

employed to study polymorphism in

(A) Blood groups, Serum proteins,
Red cell enzymes, genomic
DNA.

(B) Blood groups, Serum proteins,

Genomic DNA, Red cell
enzymes.

(C) Serum proteins, Red cell
enzymes, Genomic DNA,

Blood groups.

(D) Blood groups, Genomic DNA,
Red cell enzymes, Serum
proteins.

Paper-I111

25.

26.

27.

28.

29.

All of the following statements about
homologous chromosomes are true

except one :
(A) One of each pair of
homologous chromosomes

comes from each parent.

(B) The alleles on homologous
chromosomes are identical to
each other.

(C) They have genes for the same
traits at the same loci.

(D) Homologous chromosomes
physically pair up and may
exchange parts during meiosis.

Which of the following statements is

correct ?

(A) Concordant twins do not have
similar traits.

(B) One condition for maintaining
genetic equilibrium is large
population size.

(C) Inbreeding results in increased
heterozygosity.

(D) Genetic drift occurs in large
population.

The three primary races of mankind are
(A) Caucasoids, Mongoloids,

Negroids

(B) Caucasoids, Australoids,
Negroids

(C) Mongoloids, Negroids,
Australoids

(D) Negroids, Australoids, Bantu

Find out the West Asian Neolithic
sites from the enlisted

1. Jericho 2. Spirit cave
3. Catal Huyuk 4. Banchiang
Codes :

(A) land2 (B) land3

(C) l1and4 (D) Allthe above

The Sarai Nahar Rai archaeological
sitt in the Ganga Valley is
characterised by the evidences of

1. Human Burials

2.  Pottery

3. Copper tools

4.  Geometric Microliths

Codes :
(A) land2 (B) Only3
(C) 1,2and4 (D) Allthe above
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30.

31.

32.

Which of the following evidences
characterise the Harappan cultures ?

1. Seals 2. Fire Altars
3. Coins 4, Terracottas
Codes :

(A) 1and 2 are correct.
(B) 2and 3 are correct.
(C) 3and 4 are correct.
(D) 1,2and 4 are correct.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) The conceptual
usefulness of the term
‘ethnicity’ gets reduced
because of its flexibility.
Reason (R) : It is used to refer to
groups in all sorts of different
situations.
Codes :
(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.
(D) Both(A) and (R) are wrong.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Kinship is essentially
based on the principle of
biology and therefore Kinship
as a social phenomenon needs
to be explained in terms of
biology.

Reason (R) Persons in every
society are more closely related
to their consanguineal Kin
rather than to their affinal Kin
giving no scope for the latter to
be socially active.

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are correct
statements, but (R) is not the
correct explanation.

(C) (A)is correct, but (R) is wrong.

(D) (A) iswrong, but (R) is correct.
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33.

34.

35.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : The peasant society

produces surpluses with a
highly developed agricultural
technology.

Reason (R) : It has the capacity to
produce, store and preserve
food.

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : The most important
kind of social group based on
Kinship is the community.

Reason (R) : Villages everywhere
fall or function below the level
of community.

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : For a minority group
identity could be a liability.
Reason (R) : Minority groups are

unable to form ethnic
boundaries.
Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.
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FT

(A) (A) 3R (R) 3T &t € |

(B) (A) W&, =g (R) Tord ¢ |

(C) (A) T & R (R) Tl ¢ |

(D) (A) 3R (R) g Tora € |

T 3t FE 6T ™ E, U w AT

(A) 3R TE H FHROT (R) 1 A fgar

TE |

AUFHYT (A) : TANT F MR W
G Hewaqul WhR FHl TTHITH
TE, TEE |

FHROT(R) ;T ST Tid, 995 &
TR I A FF A € A ')
WA E |

T

(A) (A) 3R (R) IHT &t € |
(B) (A) T &, W< (R) ToId & |
(C) (A) 7o & <] (R) W&l & |
(D) (A) 3R (R) T Toid & |

T 3 U 53 T €, Th @ AT

(A) 3T & HF HRT (R) T 1 fzan

TTE |

AUHAT (A) : FTHEF T F o
e STREIIeS & Hehel € |

FHRUT(R)  : FoUEEAFH THE JoI
IR &l S T ©

FT

(A) (A) 3R (R) I &l |

(B) (A) Wl g, W (R) T ¢ |

(C) (A) e & R (R) Wl ¢ |

(D) (A) 3R (R) 3T Tora € |
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36.

37.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) Millenary
movements organised by the
American Indians in the late
eighteenth century sought to
provide an explanation for and
a solution to the problems
faced by the society.

Reason (R) American Indians
suffered the loss of their lands,
their livelihoods, and as much

as nine-tenths  of  their
population.
Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : One of the most
striking changes in patterns
of growth is the secular trend

in growth  observed in
industralized countries.
Reason (R) The secular trend

in human growth is the result
of better nutrition and better

health care.

Codes :

(A) (A) is correct, but (R) is
incorrect.

(B) (A) is incorrect and (R) is
correct.

(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are incorrect.
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38.

39.

40.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : The presence of
Duffy blood group antigens Fy?
and FyP facilitate the entry of
malaria causing protozoans.
Reason (R) Duffy-negative
individuals are resistant to
Plasmodium vivax.
Codes :
(A) Both (A) and (R) are incorrect.
(B) Both (A) and (R) are correct.
(C) (A)iscorrect, but (R) is incorrect.
(D) (A)isincorrect, but (R) is correct.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Consumption of high
fat diet is associated with
Cardio vascular diseases.

Reason (R) : The level of cholesterol
has no impact on the onset of
cardio vascular diseases.

Codes :

(A) (A) is correct, but (R) is
incorrect.

(B) (R) is correct, but (A) is
incorrect.

(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are incorrect.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : HLA is a part of the
major histocompatibility
complex.

Reason (R) : This system has wide
medical application and is used
in organ transplantation.

Codes :

(A) (R)is correct, but (A) is incorrect.

(B) Both (A) & (R) are incorrect.

(C) Both (A) and (R) are correct.

(D) (A) is correct, but (R) is incorrect.
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36.

37.

I 37 A G T §, Uh B AT
(A) T T8 3R TE B FROT (R) &
T fear T E

AU (A) © eRedl  IAEl &
IRY U MK WRAE FNT
Trfed ‘Mot =i’ 3 9o
F G F [ TS U
THTYH YT 6T |

HROUT(R) ;3N ORAE 6
ST g, STuAr Sfifer 3R
SHYET B T AlSger 9
G+ =l &1 g |

T4

(A) (A) 3R (R) I T E |
(B) (A) W g, W (R) T ¢ |
(C) (A)Tew & W (R) Wl |
(D) (A) 3R (R) T Totd & |

I 2w 3 ™ € e B et
(A) 3R TE H FHROT (R) H A fgar
e |

afme (A) : Sgfg @ e &
ufaedi  (Ye) W US WAy
TR gREd= 3T <9 |
AR gig | FaRaicts gt
@FFR 72) € |

HROT(R) OFEE Gt H
ferellcter wgfd dgaR WuoT 3R
FET T & H IR0 ¢ |

(A) (A) T e, W (R) Tord & |
(B) (A) T g, T (R) Wl ¢ |
(C) (A) 3R (R) I T & |
(D) (A) 3R (R) FHi TTed & |
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38.

39.

40.

T 31 P 53 T E, U A AT

(A) R TE H RO (R) 1 A fgar

TTE |

AMH (A) : SFR T GHE TS
Fy? 3R FyP &0 HisET Heifian
FIRT HA el WSS o TaT
H Gor ST € |

FRUT(R)  : SFh-Afed e

wAAITEa faee o ufawie € |

T

(A) (A) 3R (R) T To1d € |

(B) (A) 3R (R) 3T @&t € |

(C) (A) g W (R)Tod ¢ |

(D) (A) o &, TR (R) W&T € |

T 3 U 53 T €, Th @ AT

(A) 3T W HF HRT (R) H 7 fzan

TE |

AR (A) S TR SRR H
UM FMSST FFFOR I |
Tl € |

FRUT(R)  : Pl HT T Hriset
PR T IO BH W HE
3R TEl SOTAT ¢ |

C T

(A) (A) T ¢, T (R) T & |
(B) (R) el ¢, W= (A) Tord ¢ |
(C) (A) 3R (R) 3T @&t € |
(D) (A) 3R (R) g Tora € |

T 37 P 5 T, U B S

(A) 3R TE H FHROT (R) 1 A fgar

T |

Ao (A) : TATAT R fewr
Fivdifefalere wrmeea # Emr e |

HRUT(R) 39 Fa™ & AUH
fafecdia Smam & 3R e
HeRITuT | SHeh1 SUFIT & € |

FHT:

(A) (R) W& ¢, W= (A) Terd ¢ |

(B) (A) 3R (R) i Tora € |

(C) (A) 3R (R) I W&t € |

(D) (A) W&l g, = (R) T ¢ |
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41.

42.

43.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Heritability studies
constitute an important part of
quantitative genetics.

Reason (R) : Twin studies are not
used in heritable study.

Codes :

(A) (A) is incorrect, but (R) is
correct.

(B) (R) is incorrect, but (A) is
correct.

(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are incorrect.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) = All
populations
brachycephalic head.

Reason (R) : Mongoloids do not
possess brachycephalic head.

Codes :

(A) (A) is true, but (R) is false.

(B) (R)istrue, but (A) is false.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true.

Indian
pOSSess

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion  (A) The Indian
Megalithic culture is
characterised by several burial
types.

Reason (R) : The plurality of burial
types was due to the biophysical
characters of people, their
languages and case segregations.

On the basis of the above, choose the

correct answer :

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong.

(C) (A)iswrong, but (R) is correct.

(D) Both (A) and (R) are wrong.
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44,

45.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : The
Australopithecines of Africa
were the practitioners of
‘Osteo-Dento-Keratic’ culture.
Reason (R) : The on-set of the
Pleistocene climatic conditions
brought in  depletion of
woodland forests to Savannas,
where the ‘prey predator’
relations provided an
opportunity to practice ‘Osteo-
Dento-Keratic’ culture.

On the basis of the above, choose the
correct answer :

Codes :

(A) Both (A) and (R) are correct.
(B) (A)is correct, (R) is wrong.
(C) (A)iswrong, (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements. One
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : The Indian tribal
cultures are of great help in
drawing analogies and parallels
for ethnoarchaeological
understandings.

Reason (R) : The pre-agricultural
technologies are still prevalent
among the tribal economies
occupying the hill tract and
forested environments.

On the basis of the above, choose the
correct answer :

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, (R) is wrong.
(C) (A)iswrong, (R) is correct.
(D) Both (A) and (R) are wrong.
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41.

42.

43.

T 3t FeE 6T T E, U H AT

(A) R TE H RO (R) 1 A fgar

TTE |

At (A) : eRefaferer
@WT%BﬂW) I TS
\-‘Hljoll-‘«’lcbl <hl "lS‘('OngUI |6{*HI %‘ |

HRUT(R)  : S[gal g=di & 3Tt
#1 T e H SwEN @
fepar ST € 1

C YA

(A) (A) Tod & R (R) T&r € |
(B) (R)7emd &, =g (A) W& ¢ |
(C) (A) 3R (R) I TEl & |
(D) (A) 3R (R) g1 Tetd € |

T < e G T €, Uh A AT

(A) 3T 3T H FROT (R) H 94 57w

e |

afirped (A) : 99 9RAE S
STt (die TR) TaX aret &
g

FHROT(R)  : AFTAESd T
SrepratHfos fog T8 B |

C YA

(A) (A) T ¢, ® (R) 3ITHT & |
(B) (R)TH &, W (A) ITHT ¥ |
(C) (A) 3R (R) I @A E |
(D) (A) R (R)IF FAE |

T 3 e 5T T §, U B AR

(A) 3T 3 = HROT (R) 1 A fgar

TTE |

HAIWHEA (A) © IRA™ eS0T FEHT
i freToT S5 | YR % THT ¢ |

FROUT(R) :TFA & THRI  H
IFHAL, A F SF-INIRE
foemaret, ST 9 R uHe
QRT3 o HROT H & |

(A) (A) 3R (R) I I E |
(B) (A) W& ¢, W (R) T & |
(C) (A) T &, TR (R) W&T € |
(D) (A) 3R (R) &I Tord & |
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44,

45.

T 3 o G T E, U AT

(A) 3 3T H FROT (R) H 94 fzar

e |

AETHAT (A) © 3TRIH &
AT ‘3fdiear  <a-

fepifeeh” TXHId & TR & |

FROT(R) AT AT @ &
IR & HAH] év‘gsvius ST S
UL T, SRl WM (-
TeT) TEE A STEieAl-Sd-
FMh TEHIT & T=e TR

TeH R |
ST o STER W, TEl I H T B
B
(A) (A) 3R (R) I Tt & |
(B) (A) Tl & W= (R) T ¢ |
(C) (A) T e, WY (R) Wl € |
(D) (A) 3R (R) & Terd & |

e g1 e 53 T €, U W A
(A) 3T W HF HRT (R) H 0 fzan
T™NE |

arfirme (A) : w‘cﬂwmﬁam

FHROT(R) TR Tk 3R o
AR U g6 aTell Sy
AN % A qE-HT
Hrenfiferar s 3t off Tere = € |

I F MR W, Tl IR H T899 B

o

(A) (A) 3R (R) T T E |

(B) (A) ¥ e, W (R) T ¢ |

(C) (A) T &, W (R) TN T |

(D) (A) 3R (R) I T & |
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46.

47.

48.

49,

50.

Who among the following could be
regarded as a pioneer in the field of
village studies in India ?

(A) L.P. Vidyarthi

(B) N.K.Bose
(C) D.N. Majumdar
(D) S.C.Dube

Give the correct sequence of the

following stages about illness :

I.  The symptoms experience
stage.

Il.  The medical care contact stage.

I1l.  The dependent-patient role
stage.

IV. The rehabilitation state.

Codes :

A L UL, i B LIV

C) munLnLiv o (D) L LIV

Identify the correct sequence of

Purusharthas in Hindu tradition.

(A) Dharma - Artha — Kama -
Moksha.

(B) Dharma — Artha — Moksha
Kama.

(C) Moksha - Kama - Artha
Dharma.

(D) Artha — Kama - Moksha
Dharma.

Arrange the following concepts in

order in which they appeared, use the

codes given below :

I.  Apollonian : Dionysian
cultures by Ruth Benedict.

I[I.  Common kinship: Common
territory by Lewis H. Morgan.

I1l.  Tradition : Modernity by Max
Weber.

IV. Mechanical solidarity : Organic
solidarity by Emile Durkheim.

Codes :

(A) LILIv, 11 (B)

C) 1LV, L, (D)

I, 1, 1, 1V
(I AV

Arrange the following tribes in an
ascending order on the basis of their
size and range of distribution :

l. The Jarania Il.  The Santal
I1l.  TheBirhor IV. The Ao Naga
Codes :

(A HLLIV, 1T B) LIV, I
C) LuLiIv (D) LuLiv,
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ol.

92.

53.

54,

The following is a list of types of

historical research in  Cultural

Anthropology. Arrange them in

terms of scale and dimension :

l. Controlled comparison

Il.  Ethno-history

I1l. Between-culture
on a limited scale

IV. Cross-historical research

Codes :

(A) IV, LI, 1 (B)

(C) 1,1V, 1,1 (D)

comparison

I, 1V, 1, I
I, 1, 1, v

Identify the correct sequence of

deciduous dention in man :

(A) 2 Incisors, 0 Canine, 1 Premolar,
2 Molars.

(B) 1 Incisor, 1 Canine, 2 Premolars,
1 Molar.

(C) 2 Incisors, 1 Canine, 1 Premolar,
1 Molar.

(D) 2 Incisors, 1 Canine, 0 Premolar,
2 Molars.

Identify the correct sequence of the

following primates in ascending

order of their cranial capacity

(A) Gibbon — Chimpanzee —
Gorilla — Human.

(B) Gorilla — Chimpanzee —
Gibbon — Human.

(C) Gibbon — Chimpanzee —
Human — Gorilla.

(D) Chimpanzee — Gorilla —
Gibbon — Human.

Arrange the following land mark

publications of  anthropological

importance in the order of their year

of publication :

(i)  Linguistic Survey of India —
Grierson, G.A.

(i)  The People of India — Risley, H.H.
(ili) The Racial Affinities of the
People of India-Guha, B.S.

(iv) The Aboriginal Races of India-
Sarkar, S.S.

Codes :

(A) (i), (i), (iii), (iv)
(B) (i), (iii), (i), (iv)
(C) (i), (i), (iii), (iv)
(D) (i), (i), (i), (iii)
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46.

47.

48.

49.

50.

IRA | T 31Tl & & ° ey
H T T8 s e ST 9ehdl € ?
(A) TAH, fermedt (B) wAE &9
(C) wA. weR (D) ua.dl 3o
TR F FTEfRiad sTeREet & AN |
@WW:

| TTeI0T 3TNE A I STae

1. Tofrcd S sreeen

1. 3a-2tt syfieeT atereen

V. TR sreen

FT

(A LILIV, I B) L1 IV
() ILULLIV (D) 1L IV
feg WoRT H YW o WEl 3ThH
El?ﬂ%?}{:

(A) ©F — 37 — ST — TieT

(B) & — 31l — TieT —

(C) =T — T — 37 — &

(D) 3T — & — TieT — &

frfefaa et &t 396 Uhe 84

& THT &% Y U Haned & | A 5

. ITelET ;. ¥ SAfed g
SIRICIEEsleE]

II. HmF fFAfae G@paar . ofag
T AT §R7 i e

], S : B 9o §RT Hrefe

V. W% et QTSR : gareet 3@y
R 3T WicTeRer

%

(A LIV, I (B) 1L 1L IV

() 1, IV, (D) 1LV, I

At SAeiaal st ek AR e

I Taaeor &1 |91 o SR W SR

T FaRd

. ST 9EE

1. Il 998

. foER 9 EE

V. 3 A IR

%

(A) 1L IV, I (B)

OIRIINIRLY

LIV, 1,1
(D) 1, 11,1V, I
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ol.

52.

53.

54,

HFIdw AHERTE § Ufdeias g &

USRI I G A1 TR § | 39 9EE ae

I & T T A &Y

I, Tat=a qorn

II. Joia sidqera

I, S T 9 37 GEhid o
V. o7 ufderiass oy

FT !

(A) IV, LI (B) LIV, LI
©) 1LV, L1 (D) LIV

AHa § ST Sareell 1 el 3T

El?ﬂ%?}{:

(A) 2 FIRA, 0 FFP Tl S,
| TP, 2 dUTh

(B) 1 %A 4, | FHEX Tl 3,
2 3EEUT, | TAUTH

(C) 2 oA 4, | FFIX Tl 3,
1 AU, | 0T

(D) 2 Hocd, | PP TR
0 STFIUT, 2 FTI0T

frfafad uredem &1 3AH Uy
&TAAT & 3TRTE 8 H Tl 3T shH Jared
(A) e — TSt — Mieer — gFg
(B) miRea — femistt — fitesm — g
(C) Tires — fomistt — Oe — Moo
(D) TS — mieeT — e — A

(a o (e e c
HIACRIA Hetd ERCISIGIER HeTd YUl

(VU ) USHEHT I 37 UHEH oy
% T | ared #Y
(i) foafefes @@ o dfear -
e, sho.
(ii) = dger 37 fear - Reter, TaTE,
(iii) <t Yvrer ipHeT aiw St diger
31t Efear — T, Stud.
(iv) ¥ TaenRicHer W9 3w gfear —
FHT
(A) (), (i), iii), (iv)
(B) (i), iii), (i), (iv)
(C) (i), (i), (iii), (iv)
(D) (iv), (i), (ii), (iii)
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55.

56.

S57.

58.

Arrange the following  human
identification methods and techniques
in the chronological order :

(A) Bertillon method - Finger
prints — Haemogenetic methods
— DNA finger printing.

(B) DNA finger printing -
Haemogenetic methods — Finger
prints — Bertillon method.

(C) Haemogenetic  methods —
Finger prints - Bertillon
method — DNA finger printing.

(D) Finger prints — Bertillon method
— Haemogenetic methods — DNA
finger printing.

Arrange the following fossil finds in

the order of their discoveries :

(A) Neanderthal man -
Australopithecus — Java man —
Homohabilis.

(B) Homohabilis —
Australopithecus — Java man —
Neanderthal man

(C) Neanderthal man — Java man —
Australopithecus —
Homohabilis.

(D) Java man — Neanderthal man —
Australopithecus —
Homohabilis.

Identify the correct sequence of

Somatotypic techniques in order of

their proponents.

(A) Kretchmer — Sheldon — Parnoll
— Heath-Carter.

(B) Sheldon — Kretchmer — Parnoll
— Heath-Carter.

(C) Heath-Carter — Kretchmer -
Parnoll — Sheldon.

(D) Sheldon — Parnoll — Heath-
Carter — Kretchmer.

Arrange the tool-types in progressive

technological scheme.

(A) Abbevillian - Acheulean -
Backed blade - Levalloise
point.

(B) Abbevillian - Acheulean -
Levalloise point — Backed blade.

(C) Acheulean - Abbevillian -
Levalloise point — Backed blade.

(D) Acheulean — Levalloise point —
Backed blade — Abbevillian.

Paper-I111

59.

60.

61.

62.

The tasks of an archaeologist in

sequential order are :

(A) Exploration — Excavation -
Conservation — Preservation.

(B) Exploration — Conservation —
Excavation — Preservation.

(C) Excavation — Preservation —
Conservation — Exploration.

(D) Excavation — Conservation —
Preservation — Exploration.

Arrange the Indian Cultural phases in

ascending chronological order :

(A) Neolithic - Chalcolithic -
Megalithic — NBP culture.

(B) Megalithic — Chalcolithic -
Neolithic — NBP culture.

(C) Chalcolithic - Neolithic -
NBP culture — Megalithic.

(D) NBP culture - Neolithic -
Chalcolithic — Megalithic.

Match an item in List-I with an item in
List-11. Use the codes given below :
List—1 List— 11

(@) G. Chattopadhyay (i) Gopalpur
(b) L.P. Vidyarthi (if) Shamirpet
(c) S.C.Dubey (iii) Ghaghar
(d) Alan Beals (iv) Ranjana
Codes :

@ () (© ()
(A) (iv) (iii) (i) (i)
(B) (iv) (i) (iii) (i)
(C) (i) (i) (iv) (i)
(D) (i) () (iv) (iii)

Match an item in List-1 with an item
in List-11. Use the codes given below :

List—1 List— 11
(@) Systematic (i) Anitemin
sampling the study
population
(b) Sampling (ii) Probability
unit sampling
(c) Snow-ball (iii) Non-
sampling probability
sampling
(d) Sampling (iv) List of units
frame of analysis
Codes :
@ ® ©
(A) (iii) (i) (iv) (i)
(B) (i) (i) (iii) (iv)
(C) (iv) (i) (i) (iii)
(D) (iv) (i) (iii) (i)
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55.

56.

S7.

58.

efafead g TeaH ggiadl oo

ggﬂqoi W FIATHIS A H Fared

(A) dfectim Tgd - R fiew -
EeHch Ugiqal — 8 U U

(B) @ @ U R fiifen — dmifes
Tgiaar — R fem - afcam
TEId

(C) EHisHieH Tgfadr — TR e —
el Tsd — 2 @ T R
Wen

(D) PR fem - afcdm usfd -
EHSHCH USaa — 8 T U

frefetaa Stareat & 9% @ISt & %9

T T Y

(A) FUeIe ge — AddSHT —
ST e — e fatera

(B) emRfafem - SiiEedsy —
ST e — et JEE

(C) ﬁTQ’é’TW e — el AqHd —
AN HT — BT

(D) ST AT - qﬁw g —
AN HT — IS eTd

frfefad vl deiehl &l 3T

AAUTE R & S STTAR Faed &Y :
(A) I — oed — IRAA — B —
T

(B) Tioed — SR — URATA — & —

(C) & — T — HIW — TRAA —
NiceE ]

(D) SioeT — URAMT — B9 — WX —
HATR

T SENfTena ST § SUSRoT TehR

! AT Y

(A) Tl — AT — %S &ie
— TaTetEd g

(B) Uldfefelu — wefera — weetisd
AT — ST =S

(C) uyferM — Ufaiaiera — sareisd
AL — THE TS

(D) TR — TeTeed JEl — JHe
G CRRE I CIRE]
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59.

60.

61.

62.

RAUYAE |d$l|-|| av_cbliu hl \‘Hj%IHOb 5!'75[%
(A) EIF - T - G0 -
TRIEToT

(B) oYM — TR - T -
TR0
(C) &H - RO - W@ -

SRRl
(D) T H - TWOT - R -

RAE  HEFe SN H SRR

HICThTE v T arerd Y :

(A) STEHTSTOT — ATHUTIIOT — HETATSIoT —
T ot Hepi

(B) HETITIOT — ATHUTHIOT — SEdTaToT —

T Sl HEp

(C) dTHUEIOT — SEuerT — U & O

TEHIA — HRTITHToT
(D) Q’?Tsﬁtﬁwﬁ — FEgmEmT —
TATHTHTOT — FETATSTOT
-1 F TRD ® G-l W R % 9
ﬂﬁfﬁﬁﬁﬂ"]‘z‘f%ﬁwwmﬂaﬁ

=t - 11
(a) Fl“raz‘rmww (i)
(b) uerdr foemelt (i) THERUC
(c) wadn (iii) =M

(d) we serE (iv) T
F

@ (®) () (@
(A) (iv) (i) (i) (i)
(B) (iv) (i) (i) (i)

(C) (1) (i) (iv) (i)
(D) (i) (1) (iv) (i)

-1 F TET w gE-1l @ e % 9
FrfAd Y | A 53 i 1 ITA
=i - | R_}aﬁ-n
(a) =HarEEd (i) el digeter
ISERE] 1S
(b) wfTeaT ghrE (i) TR

iR
(c) TA-aTe (iii) ST™EIT
IR LIREEE]
(d) wfqe=m (iv) fowersor st
TRET THIAT B
EEl
H
(@ (b (c) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (i) (iv)
(C) (iv) (i) (i) (iii)
(D) (iv) (i) (i) (i)
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63.

64.

65.

Match an item in List-I with an item in
List-11. Use the codes given below :

List— 1 List—11

(@) Kenneth (i) Universalization
Pike and

Parochialization

(b) M.N. (if) Etic and Emic
Srinivas

(c) Mc Kim (iii) Dominant
Marriot Caste

(d) L.P. (iv) Nature-Man-
Vidyarthi Spirit complex

Codes :
@ O © @

(A) (i) (1) (v) (i)

(B) (i) (iv) (i) (i)

(©) (i) (i) () (iv)

(D) (i) (i) (v) (i)

Match an item in List-1 with an item
in List-11. Use the codes given below :

List— 1| List—11
(@ Comparative (i) Lewis H.
approach to Morgan
Kin systems
(b) Structural (i) Claude
approach to Levi-
myth Strauss
(c) Theory of (iii) Victor
needs Turner
(d) Concept of (iv) Bronislaw
social drama Malinowski

Codes :
(@ (b) () (d)
(A) (i) (i) (iv) (i)
(B) () (i) (iv) (iii)
(C) (iv) (iii) (i) (i)
(D) (i) () (i) (iv)
Match an item in List-1 with an item
in List-11, use the codes given below :

List— 1| List— 11

(a) Electro- (i) Cytogenetics
phoresis

(b) Biometry  (ii) Biochemical

genetics

(c) FISH (iii) Facial
Technique reconstruction

(d) DNA (iv) Molecular
Sequencing genetics

Codes :

(@ () (© (@
(A) (i) (i) (1) (iv)
(B) (i) (iv) (i) (iii)
(C) (i) (i) (iv) (i)
(D) (iv) (iii) (i) (i)

Paper-I111
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66.

67.

Match an item in List-1 with an item
in List-11 with respect to the Denver
classification of human chromosomes.
Use the codes given below :

List—1 List— 11
@ A (i) 4and5
(b) B (i) l1and3
(c) C (iii) X, 6,7 and 8to 12
(d) D (iv) 13to 15
Codes :

@ (b () (@

(A) (i) (i) (i) (iv)
(B) (1) (i) (i) (iv)
(C) (i) (iii) (i) (iv)

(D) (@) (i) (i) (iv)
Match an item in List-1 with an item
in List-11.

List— 1 List—11

(@ Sewell- (i) The random
Wright fluctuations in
effect allele  frequencies

over generation in

small population.
(b) Allen’s (ii) The body size of
rule the individuals
usually  increases
with the decreasing
near temperature of

its habitat.

(c) Hardy- (iii) With  decreasing
Weinberg environmental
law temperature the

size of the
protruding organs
of warm blooded
animals increases.

(d) Breg- (iv) In large
mann’s populations where
rule no external

evolutionary forces
are operating the
allele  frequency
remains stable over
generations.

Codes :

(@ () (c) (d)

(A) (1) (i) (iv) (i)

(B) (i) (iv) (iii) (ii)

(€ (v) () (i) (i)

(D) (i) @) (i) (iv)

J-07-13



63.

64.

65.

E7) :
=i - 1
(i) FHaETERE
g
RINEREIESNE]
(i) wiew wwe TfEs
(c) BT BREE  (jii) THHE Fe

(d) Tert, (iv) SR fefee
Toramett HITATT

-l § TR W
g{;ﬁﬁ%ﬁﬁ%
.y
(@) ¥ T=H

(b) TR
%ﬁﬁam

T
(@ ([ () (@
(A) (i) (i) (iv) (i)
(B) (i) (iv) (i) (i)
(C) (i) (i) (i)  (iv)
(D) (i) (i) (v) (1)
gk bbb by
| hl :
= - | = -
(a) e yonferat & (i) j‘ﬂl?qﬁ@
TS SUTTH
(b) THersh <1
GIIACHS SAH
(C) STaTIHATS HT
g
(d) dmHIST e
(ST) B
STIYOT
ET
@ b © (@
(A) (1) (i) (v) (i)
(B) (i) (i) (iv) (i)
(C) (v) (i) (i) (i)
(D) @iy (@) (i) (iv)

Ean]
(iii) faerex =R

(ii) St TR

(iif) 9EX 1 G
(iv) Hiferrgery
&G CINED)

@ @ ( ()
(A) (i) (i) (1) (iv)
(B) (i) (iv) (i) (iii)
(C) (i) (i) (iv) (i)
(D) (iv) (iii) (i) (i)
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66.

67.

AT [ % STeR el %

g § Hell-] | HE) B G-I H TRl

ggﬁﬁmaﬁlqﬁﬁﬁﬁww

= - | = - 1

(@ A () 45

(b) B (i) 133

(c) C (i) X, 6, 7787 12
a5

(d D  (iv) 13¥15d%

T

[N

@ (b () ()
(A) (i) (1) (i) (iv)
(B) (i) (i) (ii) (iv)
(©) () (i) () (iv)
(D) () (i) (i) (iv)

l

(a) @éﬂm‘a (i) o T
T qﬁra‘wﬁ?@ﬁ
b A
I
(ii) =t & 38 &
SHlenhl HIH[AA]
3T e &
AT qIHE %
gr{fré?waw
|
(iii) T G et
trsla:ﬁéﬁam
IEETREMIRC)
AT A0S
I % T %
I TS |
(d) éﬂﬂi’—r‘ﬁ (iv) Sgt ST
H, STt IS A
Sfeprte wifst
zﬂ;ﬁ?ﬁjaqﬁ%’
Uigl-ge-digt fer
TAE |

(@ (b () (d)

(A) () (i) (iv) (i)

(B) (i) (iv) (iii) (i)

(C) (iv) (i) (iii) (i)

(D) (i) () (i) (iv)
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68.

Paper-I111

Match an item in List-1 with an item in

List-11. Use the codes given below :

(@)

(b) Clado- (i)

List— 1| List—11
Ana- (i) Evolution
genesis through  the

branching of a
species or a
lineage.
Speciation

genesis occurring  via
geographic
isolation.

(c) Allo- (iii) Speciation
patric occurring
Speciat- when two
ion population

have
continuous
distributions
and some
phenotypes are
more
favourable
than others.

(d) Parapa-  (iv) Evolution of a
tric triat or a
Speciation species  into

another over a
period of time.

Codes :

(A) (v) () (i)

@ (@ () ()
(iii)

(B) (iv) (i) (i) (i)

(©) (i) (i)

(iv) (i)

(D) (i) (iv) () (i)

20

69.

70.

Match the animal remains unearthed
from prehistoric sites against their
cultural stages. Use the codes given

below :

List-1
(@) Horse (1)
(b) Dog (ii)
() Rhino (iii)
(d) Cattle (iv)
Codes :

@ (b)) (o)
(A) (iv) (i) (i)
(B) (@) (i) (i)

€ @) @) ()
(D) (i) (iv) (V)

List— 11l
Palaeolithic
Mesolithic
Neolithic
Megalithic

(d)
(i)
(iv)
(i)
(iii)

Match the Art-form in List-1 with the
type or location in List-1l. Use the

codes given below :

List—1 List— 11

(@) Venus of (1) On Ceilings
Villandorf of Caves

(b) Polychrome (ii) A Carved
Paintings antler

(c) Batende (iii) On Cave
Command- walls
ment

(d) Palm (iv) A Sculptural
Stencils Figurine

Codes :
@ () ( (@)

(A) (i) (i) (v) (D)

(B) (v) () (ii) (i)

(€ () Gi)y @@ ()

(D) () (v) (i) (iii)

J-07-13



68.

efl-1 H St 7T BT GeA-11 B HET b ATy
e Y | i & et T ST

=it - | =t - 1

(a) UHEF 3t (i) W@ﬂsﬂa
7 U a9
EEREETSI)
IIHET FRT
EHCEIL)

(i) “rifers
TFRIOT
FRT ST
SHIT

(iiii) 3T STEHET
T AR

ToreeoT qe

EE)
TS

I A
Tt |
Atem
IIFCT B
&
FeATEY
SIGIR)

BN

(b) ETEE I

(d) Rmfes WEETH  (iv) TH a0
o1 TH
TSt T
I H
T HIA
.ﬁ,
EEEEIL]

X

T4

(=N

@ (b «© (@
(A) (v) () (i) (i)
(B) (iv) (i) (i) (i)
€ @) @ @v) (i)
(D) (i) (iv) () (i)

J-07-13
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69.

70.

gd-1 omifdetas we ¥ et Oy
YR H &I TS TRT BT G- (Wpin
) | & 7T TRl 9 HeH | A=

ST T oz T T Y

= - | = - 1
(a) =re (i) feaitatas
(b) (i) waifers
(c) W= (iii) et
(d) = (iv) Hmertes
C T

(=N

@ (b «© (@
(A) (v) (i) (i) (7)
B) (@) (i) (i) (iv)
€ (i) (@ (@v) (i)
(D) (i) (iv) () (i)

-1 (FereT) § & TE TR -

(W AT TATEIfT) ot 7T & Arer gAferd
F |
= - | =t - 11
(@) o9 3% (i) T B DAl
foeeTh w
(b) vichm e (i) o1 FET
o
(c) o= S e (iii) T W
AR W
(d) uH®RAMeE  (iv) o WheaaX
Elite]
—

& -

@ (b)) () ()

(A) (i) (i) (v) (D)

(B) (v) () (i) (i)

(© () Gi)y @) ()

(D) () (v) (i) (iii)
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Read the following text and choose/pick
the correct answer in each of the following
questions :

(Q. Nos. 71 to 75).

By the beginning of the 21% Century
the AIDS (Acquired Immune Deficiency
Syndrome) had become the leading
infectious cause of death in the world.
Since its inception/emergence several
decades ago, more than 60 million people
world wide have been infected with HIV.
In 2001 alone AIDS claimed 3 million
lives, or over 8,200 people each day.
Tragically, 95 percent of all new AIDS
cases are occurring in the poorest countries
that are least equipped to handle the
epidemic. The situation is most grim in the
continent of Africa, where AIDS is erasing
decades of progress in life-expectancy.

The AIDS epidemic is particularly
difficult to get under control for several
reasons. First, the disease attacks the
human immune system, one of the most
complex and inadequately understood
system of the body. Second, the group of
viruses thought to cause the disease are so
poorly understood that a chemical cure is
not likely to found in the immediate future.
Thus, the biological factors in solving the
AIDS threat are highly complex.

Efforts to stem the epidemic are
further complicated by cultural factors.
That is, the high-risk populations
(intravenous drug users and prostitutes) are
not visible sub-cultures. This creates
additional problems of programmes of
AIDS prevention until a vaccine for AIDS
is developed, education remains the best
strategy for reducing the spread of the
disease. Because AIDS is sexually
transmitted, the world’s populations must
learn as much as possible about how to
avoid contracting the disease.

71.

72.

73.

74.

75.

Paper-I111
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HIV-AIDS is a

(A) A water-borne disease
(B) An infectious disease
(C) An archaic disease
(D) An inherited disease

The AIDS has been

(A) Reducing the GDP in African
countries.

(B) Hindering the growth of economy.

(C) Intervening in the life expectancy.

(D) Affecting the development of
African countries.

The difficulty in controlling the

AIDS is because of

1.  Inadequacy in understanding
the human immune system.

2. Incomplete understanding of
the inheritance pattern of HIV-
AIDS in humans.

3. Lack of understanding of the
structural properties of the virus.

4. The religious misconception
about HIV-AIDS.

Codes :

(A) land2 (B) 2and4

(C) land3 (D) 3and4

The main problem encountered in

control and prevention of AIDS is

1.  The social stigma attached to
drug addicts.

2.  The social stigma attached to
prostitution.

3. Theinvisibility of the disease.

4. The cultural acceptance of
HIV-AIDS patients.

Codes :

(A) land2

(B) 2and3

(C) 3and4

(D) All of the above

In the absence of vaccine on AIDS,

which method of the following is the

best alternative ?

(A) Sensitising the Medical and
Health personnel.

(B) Conducting special
camps.

(C) Educating the people on the
spread of AIDS.

(D) Promotion of
education.

Medical

gender-based

J-07-13



Ffefiga o= ue 3T 3 A" 53 uea
T el ST a7 HL ;. (T F. 71 9 75)

219 YAERT & IR § USH (S IHH
StEREdr fagiy) foven) o gy @ O
GRS HRUT 9 T o7 | & 39 9 39
I/ | TR 379 e [aed W H 60 Wi |
ST AN wELeTE Al ¥ Wehtdd & 9% ¢ |
3Rt 9 2001 H, U9 + 3 Wieas @ &
ST S, 3TeT Uidfe 8200 ¥ SHET WA
ST ot | 98 3@ I € o GHul o ued
Tt 1 95 Ui Wed T I90 § T €,
ST T FEMRI T THE FH H qaH HH
[eId € | IR % WeRM H fefa waiues
R €, et USH Siad UeaRT % e | gE
TIThT i g I FH B @I T |

TSH HeMR! WX %% HROT § HE=07 a0
fooiy &7 @ e & | Teen, T@ AT e
TicReTsh el OX ShHOT el €, S foh
Taifyeh Stfeet 3 IR 1 Tare &9 ¥ Toei
T YTt § | E9, ST aeRE-aYE R 9%
T el €, 3Tk ) | ST A ST A § o
fepe afasr & IHHT THEHF ITER HX GET
Tuiad TE T | T USH % I H GHHH
Gh{"iw\fllr\olqv hlieh Ao \’Ird,("i%|

W WER H TH FH FH T
GiEp(eh BRI & HROT 3R off SeeT & s
£ | q S=v Sifew ¥ H (FeEHE g
IoRT SR AvAN) SU-HEHqar q¥IHH el € |
T T USH UHAM HRHHT o ford Safaiem
THEM 30 R § | 9 7% UgH & ford
AFIA (@ BT B 5 forepiad @l & S €,
I & TAR P FH B & o e & o
T @ S & | A TgH 9 €9 F Uit
YT TfeT T 58 I F 5 ST Hehell & |

71.

72.

73.

74.

75.
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HIV-AIDS ¥ T

(A) STt ST SERT

(B) WshIeh SHERT

(C) X Sy

(D) TEfeT S

AIDS

(A) 3THIHT 9 H ST, T FH
WE |

(B) 3rieHere gfg i Uk @I € |

(C) smg-uwifaar (Sfiad weamem) o
AT E |

(D) TR M & faspra T wefe
FEE |

AIDS @l JHAT H FHSTE % HRUT T ;

1. 99 37 faen & gueH | S

2.  UMa | HIV-AIDS &l STafemshadr
Y gafed 3Tt STHBHRT

3. O™ % GEHHS O F IR H
STFERY 1 HHT

4.  HIV-AIDS % 9R | €He Hifqar

ETE

(A) 132 (B) 294

(C) 133 (D) 374

AIDS ¥ F=1e Ud 0T 6t g gee
T

TS W ST QIS s
AT T ST WIS ATD
T T Tl T AT

HIV-AIDS Ufmi @l Saipias
T

E

(A) 132 (B) 293

(C) 34 (D) 3wRveRT Tt

AIDS & 2% & 39 | et § 9

i i fafyr s foehed & 2

(A) Tafshear qor @ 9 S[g A &
GogTeNer T |

(B) oy fafsrean forfak & |

(C) AIDS & %ol &% &R § il i
TRTTeae T |

(D) TormT-3menia Toredr f Sgram < |

LR
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